
x

+ ( ) = - ( ) = - ( ) = + ( ) =-9

Adding and Subtracting Negative Numbers

-14 -13 -2 -6 -17 -8 -14

51.11 53 7/25 0.36 57%

Converting Fractions, Decimals, and Percentages

Convert the following:

to a fraction to a decimal to a percent to a fraction

17

Percents

65%  of 99 6%  of

3.72 0.05 8.931 3.72 51.336

Multiplying and Dividing Decimals Using Traditional Methods

3.80

8 1

7 21
-

Subtracting 

+ -

Adding and Subtracting Decimals

5.54 743.259 3.18 643.269

Placement Test

4 4

10 9
÷

 













3 5   ● 3 4 ( 5 3 ) 4
5 7

2 4
4 -3

( 
8

)

Apply the rules of exponents to the following 

5 3

( 4 ● 6 ) 3

Pythagorean Theorem and the Distributive Property 1

Find the length of the sides of the triangle:

8 ( x + 7 )

Lines and Angles

Identify the following lines as parallel, intersecting, or perpendicular:

Identify the following as a line, a line, segment, or ray:

Identify the following 
angles as acute, obtuse, or

right:





8

19

0.42

19 8.00

0.19 19/100 0.16 4/25

26% 0.26 30% 0.30
29% 29/100

Convert the following fractions to decimals: Convert the following decimals to fractions:

Convert the following percent to a fraction: Convert the following percents to decimals

-13 + ( -20 ) 

-13 - 20 = -33 
-17 -( -7 )

-17 + 7 = -10 

Add or subtract the following integers:

9 3 + ( 7 + 7 ) - 7 + 8

+ 14 - 7 +729 8

744

74 % of 86?

86

0.74

344

x 6020

63.64

What is
Solve by following the order of operations:

Converting Fractions, Decimals, and Percents; Integers, 
Percentages, and Order of Operations Class





x = = 52 people52.00

13 children at a family picnic were children. The children represent 25% of the 

total amount of family members at the picnic. How many people were at the 

picnic?
13 25

x = 100

25 x

25 25

79 is 3 % of what number?

3
100
●

=

3 x = 79
3 x

100
7900

x = 2633.3= 2633
3 3

x
79 =

Use a proportion to solve the following:

If you borrow$7,831
at a rate of 6%  per year, 

how much money
would you have to pay back if

you paid it back in 7 years?
(interest plus principle)
= prtI

I = x 0.06 x

=  $3,289.02

7

+ $7,831

= $11,120.02

$7,831
Interest + 

Principle

Simple InterestUsing Proportions to 
solve Percent Problems

35 x $10.00

- $3.50100 10

$6.50

=

What is the selling price of something that is advertised at $10 with a discount 

of 35%?

100 x = 350

100 100

x = $3.50

31%

2 2 2 8

= 13%

Multiply x x = = 0.125
1 1 1 1

If you flip a coin 3 times, what is the probability it 

will land on tails once and heads twice?





1

Divide the following sets of numbers into quartiles and 

find the mean, median, mode and range.

55 8 68 3 12 36 22 48 35

3 8 12 22 35 36 48 55 68

Basic Statistics Quiz

Mean

Add the numbers 

and then divide by 

the number of 

terms.

Median

The middle number.

Mode

The number that 

appears most 

frequently

Range

The largest number 

minus the smallest 

number

32 35 NONE 65

7.7 x 10 5

770000

2.4 x 10 -2

0.024

Change the following from scientific notation to standard form:

6 8

Write the following numbers in scientific notation:

6050000

6.05  x 10

968000000

9.68  x 10

What is the square root?

25 16
5 4



3 5   ● 3 4 ( 5 3 ) 4
5 7

2 4
4 -3

( 
8

)

1

4 3

Apply the rules of exponents to the following 

3 5 + 4

3 9

5 3 x 4

5 12

5 3

5 7 - 3

5 4

( 4 ● 6 ) 3

4 3 ● 6 3

2 4

8 4

Pythagorean Theorem and the Distributive Property 1

Find the length of the sides of the triangle:

8 ( x + 7 )

8 x + 56

Line

Lines and Angles

Identify the following lines as parallel, intersecting, or perpendicular:

intersecting
Identify the following as a line, a line, segment, or ray:

acute

Identify the following 
angles as acute, obtuse, or

right:




